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At 3.1.3 Hi CHHVE T 7 L OWHEZ 5 E L TV B 08, MITEIE O 245125\ T
Bt 2 720lc, MEHEMIEHEEATRC X D8P 2 A C BE BB AL vt E
HIEBIZOWT LA ERIC BT 2 EE 23R HE LT,

T OFERE R AHEEAT I LD REMA R LR LIz 2 A, REHHE/BRO
FINEE A2 RKREDIZFHME L T\ e, Ziud, T T LV ORED R 2/ S < §FHb
LT ETCWEEHREEEQAERESFHMELTECW) Z LIZLDEEX BN T,
HARE 7 L OWEEE Q % J-SHIS IC L D fEICH LY, FERGHRZIT>7-, J-SHIS
ETNADOHN, QEEZ/NEFHEL TWD,

FRFEORE R, J-SHIS OEE A ERBEE T RN O N, SR
L AMEEOREL L LR bBBDRES LEEREN SO, QEEFR
DFERDIFINBRYTE ¢ EZ NS, LoT, thoHBEIZHONTH, QEEZLE L
HAEET MZ K VEREZITOBO L LT,

x3-1 HEEIZHWW:=YHEE =32 FERAL-YHEE

(RPEFRIEREIZ L D) (@ B J-SHIS (= & B)

Vs Vp 0 Vs Vp 0

Laver | (km/s) | (km/s) | (g/oma3) | 3P° | OPF| 95¢ | QsF | | Laver| (/o) | tkm/s) | (e/oma) | 9PC | QPF | Gse | Qsf

1 1.7 0.35 1.8 1191 0.7 | 70 | 0.7 1 1.7 0.35 1.8 60 0 60 0
2 1.8 05 1.95 1701 0.7 [ 100 0.7 2 1.8 0.5 1.95 60 0 60 0
3 2 0.6 2 20407 [120]07 | [ 3 2 0.6 2 l100] 0 [100] 0
4 2.1 0.7 2.05 2381 0.7 | 140] 0.7 4 2.1 0.7 2.05 100 O 100 | O
5 2.2 0.8 2.07 2721 0.7 [160] 0.7 5 2.2 0.8 2.07 100 | O 100 | O
6 2.3 0.9 2.1 306| 0.7 |180] 0.7 6 2.3 09 2.1 100 O 100 | O
7 | 24 | 1 215 1340071200107 ] [ 7 | 24 | 1 245 [150] 0 [150] 0
8 2.5 1.1 215 3741 0.7 |220] 0.7 8 25 11 2.15 150 | O 150 | O
9 2.7 1.3 2.2 4421 0.7 | 260 0.7 9 2.7 1.3 2.2 150 0 150 | O
10 3 15 2.25 5101 0.7 [ 300| 0.7 10 3 15 295 150 | O 150 | 0
11 3.2 1.7 2.3 5781 0.7 [ 340 0.7 11 3.2 1.7 23 150 | O 150 | O
12 3.6 1.8 2.35 612] 0.7 |360] 0.7 12 3.6 18 235 150 O 150 | 0
13 3.7 1.9 2.35 646 | 0.7 | 380] 0.7 13 3.7 19 235 150 | O 150 | 0
14 3.5 2 2.35 680 0.7 [400] 0.7 14 35 2 235 2001 0 (2001 O
15 4.2 2.4 2.45 680 0.7 [ 400 0.7 15 4.2 24 2.45 200 0 (2001 O
16 5 2.9 2.6 680 0.7 [400] 0.7 16 5 29 26 2001 0 [200] O
17 5.5 3.2 2.65 680| 0.7 |400] 0.7 17 55 3.2 2.65 300 0 300 O

>:< QP = QPC ) fﬁQPf N Qs = Qsc .f_QYf
I, f: AR (H)
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